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ÍÛæ˜Û¶ÛÛ : ¸ÛóÊ¶Û¶ÛÛé ¶Û×¼ÛÁõ ¸ÛóÊ¶Û¸ÛªÛ ¸Ûó¾ÛÛ¨Ûé ›÷ ÅÛ”ÛÛé. 
 

1. ïèõÜÌÛ …¬ÛÙÉÛÛÍªÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ïèõÜÌÛ …¬ÛÙÉÛÛÍªÛ¶Ûä× ÍÈÛÄõ¸Û ©Ûé¾Û›÷ ïõÛýÛÙ“ÛéªÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 
…¬ÛÈÛÛ 

 ÍÛ¾Û›ÛÈÛÛé : 
 (…) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ”Ûé©Ûà “ÛéªÛ¶ÛÛé ºõÛÇÛé. 
 (¼Û) ”Ûé©Ûà “ÛéªÛ …¶Ûé ¼ÛÛïõà¶Ûà …¬ÛÙÈýÛÈÛÍ¬ÛÛ ÈÛ˜˜Ûé¶Ûà ¸ÛÁõÍ¸ÛÁõ©ÛÛ¶ÛÛ ¾ÛÛñ¦éøÅÛ. 
 
2. ”Ûé©Û ÜµÛÁõÛ¨Û¶ÛÛ ÍÛ×Í¬ÛÛïõàýÛ …¶Ûé Ü¼Û¶Û-ÍÛ×Í¬ÛÛïõàýÛ ÎÛÛé©ÛÛé ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 
 ÍÛ¾Û›ÛÈÛÛé : 
 (…) „ÛóÛ¾Ûà¨Û ÜµÛÁõÛ¨Û¶ÛÛé ºõÛÇÛé. 
 (¼Û) ¶ÛÛ¼ÛÛ¦Ùø¶ÛÛé ºõÛÇÛé. 
 
3. ½ÛÛÁõ©Û¾ÛÛ× …Û¡öÛþùà ¸Û™öà ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ›÷¾Ûà¶Û ÍÛäµÛÛÁõ¨ÛÛ¶ÛÛ× ¸Û„ÛÅÛÛ×¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 14 

…¬ÛÈÛÛ 
 ÍÛ¾Û›ÛÈÛÛé : 
 (…) ÍÛà¾ÛÛ×©Û …¶Ûé ¶ÛÛ¶ÛÛ ”Ûé¦æø©ÛÛé¶ÛÛ ¸ÛóÊ¶ÛÛé. 
 (¼Û) ›÷¾Ûà¶Û ½ÛÛé„ÛÈÛ¤øÛé …¶Ûé ”Ûé©Ûà ÈýÛÈÛÍ¬ÛÛ. 
 
4. ”Ûé©ÛÜÈÛÌÛýÛïõ ¼Û›ÛÁõ ÈýÛÈÛÍ¬ÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ”Ûé©Û ÜÈÛÌÛýÛïõ ¼Û›ÛÁõ ÈýÛÈÛÍ¬ÛÛ¶Ûà ”ÛÛ¾Ûà…Ûé þùÉÛÛÙÈÛ Ûé. 14 

…¬ÛÈÛÛ 
 ÍÛ¾Û›ÛÈÛÛé : 
 (…) ¼Û›ÛÁõ ÜÈÛµÛéýÛÛé. 
 (¼Û) ÈÛé˜ÛÛ¨Û ýÛÛé„ýÛ …ÜµÛÉÛéÌÛ¶ÛÛé ”ýÛÛÅÛ. 
 

5. ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ¾ÛÛªÛ (a, b, c …¬ÛÈÛÛ d) ÅÛ”ÛÛé : 14 
 (1) ”Ûé©Ûà“ÛéªÛ ¶Ûà˜Ûé …Û¸ÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶Ûä× ¸ÛóÛÈÛéÜ„Ûïõ ÎÛÛé©Û ™öé ? 
  (a) ÈÛèÜ±ù   (b) ÁõÛé›÷„ÛÛÁõà 
  (c) …ÛÈÛïõ¶Ûä× ÈýÛÈÛÜÍ¬Û©Û ÜÈÛ©ÛÁõ¨Û (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (2) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛµÛÛ ›÷ ¸ÛóïõÛÁõ¶Ûà ”Ûé©Ûà …¶Ûé „ÛóÛ¾Ûà¨Û ÜÈÛïõÛÍÛ¶Ûà ›÷ÄõÁõàýÛÛ©ÛÛé ¾ÛÛ¤éø ÜµÛÁõÛ¨Û ÍÛÛ¬Ûé 

¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïõýÛä× …¶Û¶ýÛ¸Û¨Ûé ÍÛ×ïõÇÛýÛéÅÛ ™öé ? 
  (a) IBRD (b) RBI (c) NABARD (d) SBI 
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 (3) ¾Ûä”ýÛ ÈýÛÛ¸ÛÛÁõà ¼ÛêïõÛé¶Ûä× ÁõÛÌ¤ÖøàýÛïõÁõ¨Û ïõýÛÛ ÈÛÌÛÙ¾ÛÛ× ¬ÛýÛä× Ðü©Ûä× ? 
  (a) 1961 (b) 1969 (c) 1968 (d) 1967 
 (4) ”Ûé©ÛÜÈÛÌÛýÛïõ ¼Û›ÛÁõÈýÛÈÛÍ¬ÛÛ¶Ûà ¼ÛÛ¼Û©ÛÛé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¶Ûà˜Ûé …Û¸ÛéÅÛ¾ÛÛ×¬Ûà ÉÛä× ÍÛÛ×̃ Ûä ™öé ? 
  (a) ¾ÛµýÛÜÍ¬Û…Ûé¶Ûà ¾ÛÛé¤øà ÍÛ×”ýÛÛ 
  (b) …Ü¶Û˜™öÛïèõ©Û ÈÛé˜ÛÛ¨Û 
  (c) ¶ÛÛ¶ÛÛ …¶Ûé ™äö¤øÛ ™öÈÛÛýÛéÅÛÛ ”Ûé¦øÛ¨Û ‟Û¤øïõÛé  
  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (5) ÈÛé˜ÛÛ¨Û ýÛÛé„ýÛ …ÜµÛÉÛéÌÛ¶Ûé …ÍÛÁõ ïõÁõ©Ûä ¸ÛÜÁõ¼ÛÇ ÉÛä× ™öé ? 
  (a) Š©¸ÛÛþù¶Û¶Ûä× Í©ÛÁõ  (b) ”Ûé©ÛÁõ¶Ûä× ïõþù 
  (c) ÈÛ¸ÛÁõÛÉÛ¶Ûà …Ûþù©ÛÛé  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (6) ½ÛÛÁõ©Û¾ÛÛ× ¶Ûà˜Ûä ÈÛé˜ÛÛ¨Û ýÛÛé„ýÛ …ÜµÛÉÛéÌÛ¶Ûä× ïõÛÁõ¨Û ÉÛä× ™öé ? 
  (a) Š©¸ÛÛþù¶Û¶Ûä× Ü¶ÛÜÊ˜Û©Û Í©ÛÁõ (b) ”Ûé¦øÛ¨Û ‟Û¤øïõÛé¶ÛÛ ¾ÛÛé¤øÛ ïõþù 
  (c) ¸ÛóÈÛ©ÛÙ¾ÛÛ¶Û ÍÛ×„ÛóÐü”ÛÛéÁõà¶Ûä× ÈÛÅÛ¨Û (d) Š¸ÛÁõ¶ÛÛ …éïõ ¸Û¨Û ¶ÛÐüà 
 (7) …ÛýÛÛé›÷¶Û …ÛýÛÛé„Û ¾Ûä›÷¼Û ”Ûé©ÛÜÈÛÌÛýÛïõ ¾ÛÛÇ”ÛÛ¶Ûà ¾Ûä”ýÛ ”ÛÛ¾Ûà ÉÛä× ™öé ? 
  (a) ¾ÛµýÛÜÍ¬Û…Ûé¶Ûä× …ÜÍ©Û©ÈÛ 
  (b) ½ÛÛé„ÛÈÛ¤øÛ …ÜµÛïõÛÁõ¶Ûà …ÍÛÅÛÛ¾Û©Ûà 
  (c) ¶ÛÛ¶ÛÛ …¶Ûé ÜÈÛ½ÛÛœ÷©Û ”Ûé¦øÛ¨Û ‟Û¤øïõÛé  
  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (8) ¤øÛé˜Û ¾ÛýÛÛÙþùÛ¶ÛÛ ïõÛýÛþùÛ Ðéü¥øÇ ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶Ûé ¾ÛäÜî©Û …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé ? 
  (a) ÉÛéÁõ¦øà¶ÛÛ ”Ûé©ÛÁõÛé  
  (b) „ÛÛé˜ÛÁõÛé 
  (c) µÛÛÜ¾ÛÙïõ …¶Ûé ˜ÛéÁõà¤éø¼ÛÅÛ ¤ÖøÍ¤ø¶Ûà ›÷¾Ûà¶Û   
  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (9) ›÷¾Ûà¶Û ¤øÛé˜Û ¾ÛýÛÛÙþùÛ¶ÛÛé ïõÛýÛþùÛé ______ ÜÈÛÜÉÛÌ¤ø ©Û¼Û‘õÛ…Ûé¾ÛÛ× …¾ÛÅÛ¾ÛÛ× ¾ÛäïõÈÛÛ¾ÛÛ× …ÛÈýÛÛé Ðü©ÛÛé. 
  (a) ¼Ûé (b) ªÛ¨Û (c) ˜ÛÛÁõ (d) ¸ÛÛ×˜Û 
 (10) „Û¨ÛÛé©Û ÍÛäµÛÛÁ¨ÛÛ Ðéü¥øÇ ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ? 
  (a) „Û¨ÛÛéÜ©ÛýÛÛ…Ûé ¾ÛÛ¤éø ›÷¾Ûà¶Û ½ÛÛé„ÛÈÛ¤øÛ¶Ûà ÍÛÅÛÛ¾Û©Ûà 
   (b) ½ÛÛ¦øÛ¶Ûä× Ü¶ÛýÛ¾Û¶Û 
  (c) ¾ÛÛÜÅÛïõà Ðü‘õ ¸ÛóþùÛ¶Û ïõÁõÈÛÛ 
   (d) Š¸ÛõÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (11) Ü¼ÛóÜ¤øÉÛ ÍÛÁõïõÛÁõ ³ùÛÁõÛ ›÷¾Ûà¶ÛþùÛÁõà ÈýÛÈÛÍ¬ÛÛ ïõýÛÛ ÈÛÌÛÙ¾ÛÛ× ÅÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà ? 
  (a) 1793 (b) 1794 (c) 1792 (d) 1795 
 (12) ÜÈÛïõÛÍÛÅÛ“Ûà ÜµÛÁõÛ¨Û¶Ûà ›÷ÄõÁõàýÛÛ©Û ”Ûé¦æø©Û¶Ûé ”Ûé©Ûà “ÛéªÛé ¾Ûæ¦øàÁõÛéïõÛ¨Û ¾ÛÛ¤éø ›÷ÄõÁõà ™öé ›÷é¾ÛÛ× 

ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé. 
  (a) ›÷¾Ûà¶Û …¶Ûé Š¸ÛïõÁõ¨ÛÛé ÈÛ„ÛéÁéõ¶Ûà ”ÛÁõàþùà 
   (b) ÝÍÛ˜ÛÛˆ¶ÛÛé ÜÈÛïõÛÍÛ 
  (c) ›÷¾Ûà¶Û ¶ÛÈÛÍÛÛµýÛ©ÛÛ ÐüÛ¬Û µÛÁõÈÛÛ 
   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (13) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà, ïõýÛä ¼Û›ÛÁõ¶Ûä× „ÛÛíé̈ Û ÜÈÛµÛéýÛ ¶Û¬Ûà ? 
  (a) ËÛé¨ÛàïõÁõ¨Û (b) ¸Ûéïõá„Û (c) Ä¸ÛÛ×©ÛÁõ¨Û (d) ¸ÛÜÁõÈÛÐü¶Û ïõÁõÈÛä 
 (14) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïýÛä× ¸ÛÜÁõ¼ÛÇ ”Ûé©Ûà¶ÛÛé ¸ÛóïõÛÁõ Ü¶ÛµÛÛÙÜÁõ©Û ïõÁéõ ™öé ? 
  (a) ½ÛÛíé„ÛÛéÜÅÛïõ Äõ¸ÛÁéõ”ÛÛ  (b) ¾Ûæ¦øà …¶Ûé ËÛ¾Û¶Ûà Š¸ÛÅÛ¼µÛ©ÛÛ 
  (c) ÈÛÛ©ÛÛÈÛÁõ¨Û   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
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Instruction : Write the no. of the question as per the question paper. 
 

1. Define Agriculture economics. Discuss the nature & scope of agriculture economics. 14 

OR 

 Explain : 

 (a) Role of Agriculture in Economic Development. 

 (b) Models of interaction between Agriculture & rest of the economy. 

 

2. Explain in detail institutional & non-institutional sources of agricultural finance. 14 

OR 

 Explain : 

 (a) Role of Rural credit. 

 (b) Role of NABARD. 

 

3. Critically examine land reform measures undertaken in India since independence. 14 

OR 

 Explain. 

 (a) Problems of marginal & small farmers. 

 (b) Land tenures & farming systems. 

 

4. Define Agricultural Marketing. Point out the defects of agricultural marketing. 14 

OR 

 Explain : 

 (a) Marketing functions. 

 (b) Concept of Marketable Surplus. 
 

5. Choose the right answer & write (a, b, c & d) only. 14 

 (1) Agriculture is a dynamic source of : 

  (a) Growth (b) Employment 

  (c) Better distribution of income (d) All of these 

 (2) Which of the following is exclusively concerned with credit needs of all types of 

agricultural & rural development in India ? 

  (a) IBRD (b) RBI 

  (c) NABARD (d) SBI 

 (3) Nationalisation of major Commercial banks was done in the year : 

  (a) 1961 (b) 1969 

  (c) 1968 (d) 1967 
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 (4) Which of the following is correct in regard to problem of agricultural marketing ? 

  (a) Large number of middleman (b) Forced sales 

  (c) Small & Scattered holdings (d) All of these 

 (5) Which of the folliwng is the factor affecting marketable surplus ? 

  (a) Level of production (b) Size of farm 

  (c) Consumption habits (d) All of these 

 (6) What is the reason for low marketable surplus in India ? 

  (a) Certain level of output 

  (b) Big size of holdings 

  (c) Prevalence of tendency of hoardings 

  (d) None of the above 

 (7) Which of the following is the main effect of agrarian structure, according to 

planning commission ? 

  (a) Existence of intermediaries (b) Insecurity of tenure 

  (c) Small & fragmented holdings (d) All of these 

 (8) Which of the following has been exempted from ceiling legislation ? 

  (a) Sugarcane farms 

  (b) Grazing lands 

  (c) Land for religious & charitable trust 

  (d) All of these 

 (9) Ceiling laws were inacted & inforced in _______ phases. 

  (a) two (b) three 

  (c) four (d) five 

 (10) Which of the following is the tenancy reform ? 

  (a) security of tenure for tenants  

  (b) regulation of rent 

  (c) confirment of ownership on them  

  (d) all of these 

 (11) Zamindari system was created by the British Government in the year : 

  (a) 1793 (b) 1794 

  (c) 1792 (d) 1795 

 (12) Development credit is required by the farmer to make investment on the farm 

which include. 

  (a) Purchase of land, implements etc. 

  (b) Development of irrigation 

  (c) Undertaking land reclamation 

  (d) All of these 

 (13) Which of the following is not the secondary marketing function ? 

  (a) Grading (b) Packing 

  (c) Processing (d) Transporting 

 (14) Of the following, which factor determines type of farming ? 

  (a) Topography (b) Availability of Capital & Labour 

  (c) Climate (d) All of the above 

____________ 


